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Решите каждую задачу.

48:2 =      24     92:2 =      46     52:2 =      26     64:2 =      32     

80:2 =      40     16:2 =      8      88:2 =      44     24:2 =      12     

20:2 =      10     4:2 =      2      84:2 =      42     72:2 =      36     

100:2 =      50     8:2 =      4      96:2 =      48     60:2 =      30     

28:2 =      14     76:2 =      38     12:2 =      6      40:2 =      20     

36:2 =      18     32:2 =      16     56:2 =      28     44:2 =      22     

8:2 =      4      72:2 =      36     20:2 =      10     68:2 =      34     

24:2 =      12     60:2 =      30     92:2 =      46     100:2 =      50     

96:2 =      48     44:2 =      22     76:2 =      38     12:2 =      6      

84:2 =      42     56:2 =      28     4:2 =      2      52:2 =      26     

48:2 =      24     36:2 =      18     88:2 =      44     40:2 =      20     

28:2 =      14     80:2 =      40     16:2 =      8      64:2 =      32     

32:2 =      16     60:2 =      30     36:2 =      18     40:2 =      20     

80:2 =      40     52:2 =      26     88:2 =      44     4:2 =      2      

44:2 =      22     96:2 =      48     12:2 =      6      28:2 =      14     

84:2 =      42     32:2 =      16     20:2 =      10     72:2 =      36     

24:2 =      12     76:2 =      38     100:2 =      50     56:2 =      28     

16:2 =      8      68:2 =      34     64:2 =      32     8:2 =      4      

92:2 =      46     48:2 =      24     100:2 =      50     4:2 =      2      

16:2 =      8      88:2 =      44     20:2 =      10     40:2 =      20     

28:2 =      14     36:2 =      18     68:2 =      34     32:2 =      16     

56:2 =      28     12:2 =      6      64:2 =      32     8:2 =      4      

84:2 =      42     60:2 =      30     44:2 =      22     92:2 =      46     

72:2 =      36     52:2 =      26     48:2 =      24     80:2 =      40     

24:2 =      12     96:2 =      48     76:2 =      38     52:2 =      26     



Имя: Ключ к правильным ответамДивизионные тренировки до 100

Математика www.CommonCoreSheets.ru 1

Решите каждую задачу.

48:2 =      24     92:2 =      46     52:2 =      26     64:2 =      32     

80:2 =      40     16:2 =      8      88:2 =      44     24:2 =      12     

20:2 =      10     4:2 =      2      84:2 =      42     72:2 =      36     

100:2 =      50     8:2 =      4      96:2 =      48     60:2 =      30     

28:2 =      14     76:2 =      38     12:2 =      6      40:2 =      20     

36:2 =      18     32:2 =      16     56:2 =      28     44:2 =      22     

8:2 =      4      72:2 =      36     20:2 =      10     68:2 =      34     

24:2 =      12     60:2 =      30     92:2 =      46     100:2 =      50     

96:2 =      48     44:2 =      22     76:2 =      38     12:2 =      6      

84:2 =      42     56:2 =      28     4:2 =      2      52:2 =      26     

48:2 =      24     36:2 =      18     88:2 =      44     40:2 =      20     

28:2 =      14     80:2 =      40     16:2 =      8      64:2 =      32     

32:2 =      16     60:2 =      30     36:2 =      18     40:2 =      20     

80:2 =      40     52:2 =      26     88:2 =      44     4:2 =      2      

44:2 =      22     96:2 =      48     12:2 =      6      28:2 =      14     

84:2 =      42     32:2 =      16     20:2 =      10     72:2 =      36     

24:2 =      12     76:2 =      38     100:2 =      50     56:2 =      28     

16:2 =      8      68:2 =      34     64:2 =      32     8:2 =      4      

92:2 =      46     48:2 =      24     100:2 =      50     4:2 =      2      

16:2 =      8      88:2 =      44     20:2 =      10     40:2 =      20     

28:2 =      14     36:2 =      18     68:2 =      34     32:2 =      16     

56:2 =      28     12:2 =      6      64:2 =      32     8:2 =      4      

84:2 =      42     60:2 =      30     44:2 =      22     92:2 =      46     

72:2 =      36     52:2 =      26     48:2 =      24     80:2 =      40     

24:2 =      12     96:2 =      48     76:2 =      38     52:2 =      26     
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